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Lesson 1 Summary 

Imagine you have a painting that is 15 feet wide and 5 feet high. To sketch a scaled copy of 
the painting, the ratio of the width and height of a scaled copy must be equivalent to 15: 5. 
What is the height of a scaled copy that is 2 feet across? 

 

width height 

15 5 

2 ℎ 

We know that the height is 
1

3
 the width, so ℎ =

1

3
⋅ 2 or  

2

3
. 

Sometimes ratios include fractions and decimals. We will be working with these kinds of 

ratios in the next few lessons. 


